Efficiency vs P,

~ 0.1 T
o E :
£ 0.09F - eerie e RRIRLEES & I EEEEEIEED
& E :
S e | RS
B 007 oo oo b
() - :
0.0BF-+++eereriereseseens e ERRRRRN
0.0BF-+eseereriereseenenss e T T
0.04F -+ froeeeeeens SRS TR
e ST RCRt SETRLE | X SRR
0.02F -+ oo + -------------------
0.01 i+ =H»H+++H< --------------
100 U e LA W
o :
T I
o L
1_—- O

o
- ©
=xel
i

! 0 18 el

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

=0.05¢ :
L R and ti SURETIIES S
B0.04f v b
Q r N
@035+ b oo
5 E :
00l SRR SRS S| SO (1 NS S
O | R I
0.02F ++++A--o- -t AT
0.015F -+ f-- -l A o s
0.02 -+ AL+ - At A S
0.005F--++++-if+++1-iff---- 0L S UL S
P P | A TP I I P
o .
g :
@ I i
i i - ; + | P
3 =2 -1 o0 1 2 3

Efficiency vs @

s 0.5
£0.09
2y
©0.08
Q@
(8]
EO.O?
[J]
0.06
0.05
0.04
0.03
0.02
0.01

1.9

Ratio

=

NN 0 LR LA LI JLJLJ N JLJLJLIL R JLJLJLIL N BLJLJLIL PR BN LN LR LR

083~ o0 1 2 3



	Contents
	Page 1


